1. Find the domain snd mange of the relation and (ell whether it"s a fanction.
B={ (5 -3)(.-4).06,. 6.9}

2. A function is defined as fix)=5x—x2 Find:a. £{0) b. [(1) ¢ [(-2)

3. Giraph the function defined by each of the followng::
a. glx)=x+3, where xis an inleger and -2 < x <2 b, ix)=3-4dx

4. Find the cquation of the line that goes through the points (-4, 2) and (-3, =T).

5. The base of a pyramid is a triangle whose base is 10§t and whose height is 4t The
pyramid has & height of 100l Find the: &, area of the base b, volume of the pyramid

6. Through how many degrees does (the hour hand on a cloek turn in going from:
a, 12 o'clock to 6 o'clock h. 2 a'clock to 7 o'clock?

7. In triangle ABC, find the measure of £C il
a. m£A = 26" und msB = 52° b. msC=3msLA =3ImLB

8. Trinnghes ADC and XYZ are similar, with m£A = m£X and msB = mLY, [TAT,
B, and AC are 3in., 4in., and Sin., respectively, and XY is 20 in., find the length of YZ.

9, What is the measure of an interior angle of o regular polygon of a. 6 sides b, 12 sides
10, Find the answer in “clock arithmetic”. a. 4+9= b. 3=-7= . Sxb=

11, {0,1,2,3,4}is the replacement sel [or n. Find the vale of n if;
4 2x4 = n{mod5) h. 44 3=n{mod5) ¢ !|-=-3=n(mods5)

12, Given the set A = [%, @)} and the operations * and # as delined in these tables:

r | w @ 4| % @
% | % @ % 1 % %
@) @ % @1 % @

Find the result of the piven operation: a. (@ *@)# % b. (@# %) # (Se* @)
13, What is the “saddle point™ of each matrix?

al 5 B h, |=7 5 |
— 7 =4 J =3
7 B &

14. Extra Credil; Fid: 2. A+B b, A-B ¢ AxB using these malnees:

2 -6 3 5
A= B=

4 4 7 2



